Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering Sem. — 11! - Examination — June/July- 2011
Subject code: 320008
Subject Name: Mechanical Drafting
Date:06/07/2011 Time: 02:30 pm — 05:00 pm
Total Marks: 70

Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

Q.1 (a) Fig—1show plan and elevation of a hexagonal prism. Draw development of it’s
lateral surface.
(b) Fig- 2 show plan and elevation of a Hexagonal prism and a cylinder intersecting
with each other as shown. Draw their curves of interpenetration.
(c) Explain following commands in computer graphics:
(1) Polyline (with arc(CEnter), Line, Width, and Half-width options) (ii) Circle
(with R, D, 2P, 3P, and TTR options)
Q.2 (a) Fig—3 show isometric view of an object. Draw to 1 : 1 scale the following views
in Ist Angle projection method
Front view (Elevation)) in direction F
Top view (Plan) in direction T
L.H.S. view in direction L
(b) Fig-4 show pictorial view of a bearing bracket. Draw Front view from direction of
F. And Sectional side view in direction of L. Use method of projection of your own
choice.
OR
(b) A square pyramid of 30 mm side of base and 60 mm height rests with one of it’s
base corners on the ground, such that the axis is inclined a 30° to the ground and
parallel to V.P. The two base edges containing the corner on which the pyramid
rest make equal angle with ground,. A sectional plane parallel to H.P. and
perpendicular to V.P. passes through the highest corner of the base of the pyramid.
Draw the top view of the pyramid showing section.

Q.3 Fig- 5 show the assembly of a ‘cotter joint’. Prepare detailed drawing showing two
views of each part . Give necessary dimension in your view. Do not duplicate the
dimensions.

OR

Q.3 (a) Fig-6 show plan and elevation, draw at least FIVE possible third view (side view)

representing five different objects.
(b) A right circular cone of base diameter 75 mm and 100 mm height lies with one of it’s
Generator on the ground, draw it’s projection.
(c) Explain following commands in computer graphics with their use and applications.
- (i)Layer (i1)Block
Q.4 (a) Draw (OR Sketch) NEATLY welding symbol for the following joints :

(1)Single Fillet weld, (i1)Single V butt joint, (ii1)Square butt joint
(iv)Single U butt joint
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A Fit is shown as 75 H6/e8, Sketch the fit and Find following
(i)Hole tolerance (i1)Shaft tolerance (ii1) Type of Fit
Data from I.S. 919 for 75 mm size deviation in microns are as follows:
Upper Lower
H6 +22 +0

Explain following terms (with suitable example)
(i)Allowance (i) Tolerance (iii)Hole base system (iv)Shaft base system
OR

Draw (OR sketch) NEATLY piping symbols for the following pipe fittings:
Flanged —

()Elbow (ii)Tee (iii)Union (iv)Reducer  (v)Check valve

Draw (OR sketch) NEATLY surface finish symbol showing complete detail on it as
per L.S.. And explain various detail on it.

Fig—7 show plan and elevation of an object, draw the missing third view.

List the step by step procedure to be followed along with commands to draw the Fig- 8
completely, using commands in computer graphics.

OR

Refer Fig — 9 — two cylinders intersecting with each other as shown. Draw the curve of
their interpenetration in elevation .

Fig — 10 show the part of cone and part of cylinder joined with each other as shown.
Draw the development of lateral surfaces A and B.

Explain the Tolerance of FORM and POSITION along-with their symbol.
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AN dimensians in mem
Flg- 3 [Que. 2(a)]
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